
Subject: Re: Easy question?
Posted by colinr on Wed, 14 Jul 1999 07:00:00 GMT
View Forum Message <> Reply to Message

On 14 Jul 1999 13:55:02 GMT, 
Stein Vidar Hagfors Haugan <steinhh@ulrik.uio.no> wrote:
> 
> Hi Colin,
> 
> How about some in-house advice:
> 
>   a = rebin(reform(v,1,1,nk),ni,nj,nk)
> 
> Although various matrix multiplications always seem to be
> suggested as the answer to such questions, I find the above
> solution a lot easier to grasp intuitively, and it appears
> to be faster on our platforms (results do vary).

You were out of your office when I came to ask ...

-- 
Colin Rosenthal
Astrophysics Institute
University of Oslo
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